AEQIY|A AR QIEUA

= 8Y/HMIZ olo|x]

o

S8 EIR B

M

&3 Tol Lkot IX] gfotof s ol olsA BRKE &
3 tHE 180° SBT3 T0| 212} HIE FOIS.

a3 MZ &S 3 uh ST 2lxlol Ug 2 U B8,

L3

SW

R

D2

© HEINRICH KIPP WERK GmbH & Co. KG

poz ¥

-0,04

B1

www.kipp.com - info@kipp.com

]

_&F
=

1/2



it

°
2 E|Ql2f| A A8 QIEA SRIX] EIR B
E= %

FEHS Btel D D1 D2 L L1 L3 B Bl H SW Fx30° AlZ} Erd
et =

F1 2. N F2 2 N

K0637.1050410 B 4 M10 10 38 2520 9 3 6 17 1 8 14
K0637.1050510 B 5 M10 10 38 2520 9 3 6 17 1,3 8 14
K0637.1050610 B 6 M10 10 38 2520 9 3 6 17 1,8 8 14
K0637.10504101 B 4 M10x1 10 38 2520 9 3 6 17 1 8 14
K0637.10505101 B 5 M10x1 10 38 2520 9 3 6 17 1,3 8 14
K0637.10506101 B 6 M10x1 10 38 2520 9 3 6 17 1,8 8 14
K0637.1050512 B 5 M12 12 468 30 25 108 36 8 19 1,3 8 15
K0637.1050612 B 6 M12 12 468 30 25 10,8 36 8 19 18 8 15
K0637.1050812 B 8 M12 12 468 30 25 108 36 8 19 2,3 8 15
K0637.10505121 B 5 Mi2x15 12 468 30 25 108 36 8 19 1,3 8 15
K0637.10506121 B 6 Mi2x1,5 12 468 30 25 108 36 8 19 18 8 15
K0637.10508121 B 8 MI2x15 12 468 30 25 108 36 8 19 2,3 8 15
K0637.1050616 B 6 M16 16 604 40 32 144 48 10 24 1.8 15 35
K0637.1050816 B 8 M16 16 604 40 32 144 48 10 24 2,3 15 35
K0637.1051016 B 10 M16 16 604 40 32 144 48 10 24 2,8 15 35
K0637.10506161 B 6 M16x1,5 16 604 40 32 144 48 10 24 1.8 15 35
K0637.10508161 B 8 M16x1,5 16 604 40 32 144 48 10 24 2,3 15 35
K0637.10510161 B 10 M16x1,5 16 604 40 32 144 48 10 24 2,8 15 35
K0637.1050820 B 8 M20 20 70 50 35 18 6 12 30 2,3 20 60
K0637.1051020 B 10 M20 20 70 50 35 18 6 12 30 2,8 20 60
K0637.1051220 B 12 M20 20 70 50 35 18 6 12 30 3 20 60
K0637.10508201 B 8 M2x15 20 70 50 35 18 6 12 30 2,3 20 60
K0637.10510201 B 10 M20x1,5 20 70 50 35 18 6 12 30 2,8 20 60
K0637.10512201 B 12 M20x1,5 20 70 50 35 18 6 12 30 3 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



